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Parametrics - DAY TWO qu:-:}:hc&tlon)

We will now work some problems involving the APPLICATION of Parametric Equations.

Example 1:  Chris can sprint at 28 feet per second. Jason sprints at 22 feet per second.

Chris gives Jason a 30-foot head start.

a. Write a pair of parametric equations to represent EACH runner. Remember, d =1t .
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c. Who is ahead after 3 seconds? Who is ahead after 5 seconds? Who wins the race? What was the
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Example 2: Arytown High School is planning a play. The script calls for two characters to meet on stage. Lauren
starts at the peoint (O feet, 7 feet) and travels 2 feet horizontally and 1 foot vertically every second.
Alex starts at the point (4 feet, O feet) and travels vertically ot the rate of 2 feet per second. If
Alex and Lauren start walking at the same time, will they meet?

a. Use the GRID to graph each walk. y {in fgeﬂ
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Lauren meet? EXPLAIN YOUR ANSWER. [t : joced o

—2 Mmat M umﬂwi}. Sl

@ pruke o ieh ok

= ot atunake rathod BN i
= whax Y reatk @ \ﬂ;ﬂﬂmﬂ. O-E),r%u p‘

i i x(in feet)




c. Complete the table of values for Lauren and Alex.
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d. Can you tell from the table if Lauren and Alex meet? Explain your answer.
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e. Write a pair of equations for Lauren's horizontal and vertical position in terms of the third variable, or

parameter, time. "3 \
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f. Write a pair of parametric equations for Alex’s horizontal and vertical position in terms of the third ¢ o8
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